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1 Run time efficiency

2 Complexity classes

3 Linear Search analysis
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size of input code structure processing requirements

complexityregs termination conditions layersKay

repeating the input subproblems hardware
memorysafety

location of input output length of code recursion iteration

programming language

fHaraware P 1 iflyus.AigoithmDesign
1975 1995 2020

processor 14mHz proc 144MHz 10 proc 1.4GHz 100

RAM 16K RAM 2MB x 125 RAM 6GB x375000

meanwhile amount of data
websites 2008 172mil tweets 7010 25mil

nowsl.lbiltodayssoom
langua.gemodels Brown corpus

mil words I MB
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1,000 100 8 4 27min
5,000 2,500 41min 10 362 11.5days
0,000 10,000 166min 12 47,900 13hars 28.2years
5,000 22,500 375min 14 8.7mi loodays 35.2 millenia

16 2 bit 66years 58.4 kilo
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